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Q1. What is the product of the largest four digit number and the smallest three digit number?
A. 99,900 B. 99,000
C. 999,990 D. 999,900

Correct Ans: D
Q1. IR 3F! A Fa@ Y FEAT IR AT 3 i FaX BN TEAT FT IOTAR FAT 82
A. 99,900 B. 99,000

C. 999,990 D. 999,900

Correct Ans: D

Q2. If 43 is subtracted from 53 and added to the square root of 144, we will get:
A. 61 B.77
C.21 D.73

Correct Ans: D
Q2. 3y 43 7 53 ¥ wern 31K 144 ¥ e & wry AT AT T A F e gem:
A. 61 B. 77

C.21 D.73

Correct Ans: D

Q3. What is the value if the largest two digit prime number is subtracted from the smallest
three digit prime number?

A. 6 B. 7

C.5 D. 4

Correct Ans: D

Q3. I &Y 3 & FaW T ITTT FEAT F it 3Pl Y TaA DN HNTST FEAT ¥ YSHAT AT Y FAT AT Yo gRm?
A. 6 B.7

C.5 D. 4

Correct Ans: D

Q4. \ 324/81 can also be written as

A 4 B.9
C.3 D. 2

Correct Ans: D
Q4. W.’324,»'31 H 37 yhR Y for@r s Hhar ¢

A. 4 B.9



C.3 D. 2

Correct Ans: D

Q5. A store offered a 25% discount on a shirt costing Rs. 1500. Since Ram purchased clothing
worth Rs. 5000, he got a further discount of 1%. What was the final price that he paid for the
shirt?

A.1113.75 B.1110.75
C.1125.75 D. 1075.75

Correct Ans: A

Q5. TF gF 1500 I Y TF FHST W 25% T & WH 21 AfF I 5000 T9 & F93 TS 7, AT 3 1%
FfaRaa ge off ol 39 39 Flle & farw Rrae 3ifasr e &1 spram feam?

A.1113.75 B.1110.75
C.1125.75 D. 1075.75

Correct Ans: A

Q6. Rajesh took a loan at 9% per annum simple interest and invested in a project where he
got a return of 13%. At the end of 5 years he made a profit of Rs 15,000. What was the
original amount that he had loaned?

A. 60,000 B. 75,000
C. 90,000 D. 80,000

Correct Ans: B

Q6. TS o 9% T I HTURYT sqTST 9T U FH 0T FordT 3T 3T v IRATSIAT F foder foram sigT @ 39 13% &
qﬁmﬂmgam 5 a¥ FATT g1 W, 38 15,000 F9 &7 aney 31fia B a8 A7 @7 F7a1 § i 399 HOT F A
oY ofr?

A. 60,000 B. 75,000

C. 90,000 D. 80,000

Correct Ans: B

Q7. Amongst a group of 700 students, 210 have opted for science, 150 have opted for arts,
while 340 have opted for commerce. If a student is randomly selected from this group, what s
the probability that this student would have opted for science?

A.0.25 B. 0.48
C.0.45 D. 0.30

Correct Ans: D

Q7. 700 & % TF §Hg # §, 210 F A=A Fet, 150 & 31w o, 519 A 340 A FAw T AR ST W A &
Al § T B FY AT S Y Tg WHIeAAT foharaht & B 39 o & T gait gt

A.0.25 B. 0.48
C.0.45 D. 0.30

Correct Ans: D

Q8. What is the probability that when a coin is tossed twice successively the outcome would be
one heads and one tails?

A . 1/4 B.1/2



C.2/3 D.1

Correct Ans: B

Q8. I« THh RAFF & AAR &Y IR 3BTAT AT A g FHTIAT fhdet § & afomer v R 3k v e gham?
A . 1/4 B.1/2

C.2/3 D.1

Correct Ans: B

Q9. A stationery shop is offering a set of stationery for Rs. 352, which is 12% discount of the
original sale price. What is the original sale price?

A. Rs. 400 B. Rs. 310
C. Rs. 375 D. Rs. 385

Correct Ans: A

Q9. UF AWAATAH GHT AWARTHA FT U AT 352 A H sy w1 @ ¥ S T ROk o7 W 12% g & a1 #
AT ¢ 7o s wew Far g?

A. 400 T B. 310 T0
C. 375 %9 D. 385 T

Correct Ans: A

Q10. A trader deals in three types of products - apparels, cosmetics and stationery which are in
the ratio 2:4:5. If he sold a total of 110 items, how many cosmetics did he sell?

A. 20 B. 40
C.50 D. 60

Correct Ans: B

Q10. TF MR Al YHR A JEIHT FT SATIR FIAT & — F93, YIRARAAN 3 d@aawraf, ST seqara 2:4:5 g1
IfE 98 F 110 Fwqait A s Far § O 30 For Praelt YamRamsal awqait fir fashr A2

A. 20 B. 40
C.50 D. 60

Correct Ans: B

Q11. Find the odd-one out in the following:

Desktop, Calculator, Abacus, Laptop
A. Abacus B. Calculator
C. Laptop D. Desktop

Correct Ans: A

Q11. fara Af@a & ¥ RveT AT AN

3FHCH, FAFA, TaFH, dverT
A. TSHE B. eigeley
C. dueiq D. S¥heiq

Correct Ans: A



Q12. Find the odd-one out in the following:

Letter, Envelope, Internet, Stamp
A. Envelope B. Stamp
C. Internet D. Letter

Correct Ans: C

Q12. fara fAf@a & ¥ v 71a A

9, for®I®wI, Setae, SHhfedhe
A. TorreT B. SThieadhe
C. §eqeiT D. 9F

Correct Ans: C

Q13. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
the original pair:

Chalk: Duster :: Pencil: _______?
A. Carbon B. Black
C. Note D. Eraser

Correct Ans: D

Q13. 77 ¥dAs RFeT I St 77 To # Affrcaaa way & weed way A wdAss AffeafFa wwar ¢:

qF:ZEI GR_T ?
A. FIeeT B. @Tell
C. for@er D. S8

Correct Ans: D

Q14. Choose the correct option that best expresses a relationship SIMILAR to that expressed in
the original pair:

Reliable: Dependable :: Careful: ______?
A. Cautious B. Remember
C. Silly D. Careless

Correct Ans: A

Q14. 77 waAss RFer gfad St qaT I7o # fegeFa Fau & Aoy Way i gaAvs FfFeafFa wwar ¢:

el : A i T : ?
A. g B. a1 I
C. 7@ D. dT9dE

Correct Ans: A

Q15. Find the missing term: 22.5, 20, 17.5, _,12.5



A.15.5 B. 15
C.11.5 D. 10

Correct Ans: B
Q15. I W& A Hifaw: 22.5, 20, 17.5, _, 12.5
A.15.5 B. 15

C.11.5 D. 10

Correct Ans: B

Q16. If the TOYS are called the PILLOWS, PILLOWS are called the BED SHEETS, BED SHEETS
are called the BEDS, BEDS are called the JUICES and JUICES are called the DRINKS, what does
kids play with?

A. TOYS B. BED SHEETS
C. PILLOWS D. BEDS

Correct Ans: C

Q16. 3fy f&al # aferar w7 ST, afFA F GG FFT 1T, A P IT FT AT, TelT F ST FoT AT I 577 F
9-gere FET AT aF = fFas 91y Qo

A. f&elar B. @eX
C. aferar D. Goldr

Correct Ans: C

Q17. If the BIKERS are called the CYCLISTS, CYCLISTS are called the SHARKS, SHARKS are
called the DOGS, DOGS are called the CATS and CATS are called the THIEVES, who barks?

A. THIEVES B. CYCLISTS
C. CATS D. DOGS

Correct Ans: C

Q17. IfE a3aR F AIHIATC FET AT, WFHIATT FN AT FT ST, AT P Feal FeT AT, Food Fi Aeelt FeT MC 3R
faeel &I 91T FgT STw At Hie sitHam?

A. TR B. Hrghfereer
C. faeelr D. Fedr

Correct Ans: C

Q18. In a different coding system MAGNIFICENT is coded as 31749693540, how is INITIATE
coded as?

A. 94990105 B. 94909105
C. 94901905 D. 94919059

Correct Ans: B

Q18. af% wF =t Fe ol F MAGNIFICENT # 31749693540 & T # Fedg [T 1T ¢ af INITIATE &t
4 Feag R smeem?

A. 94990105 B. 94909105
C. 94901905 D. 94919059



Correct Ans: B

Q19. In a different coding system ABSOLUTE is coded as NOFBYHGR, how is STABLE coded as?
A. FNGOYR B. FGNOYR
C. FGNYOR D. FGNROY

Correct Ans: B

Q19. IfE & e T yorrelt  ABSOLUTE # NOFBYHGR & 7 & Feag fam Sirar ¢ af STABLE #! 3 Feag
foar Seam?

A. FNGOYR B. FGNOYR

C. FGNYOR D. FGNROY

Correct Ans: B

Q20. From the four answer choices, find the missing element in the question figure to
complete the series.

Question Figure

Correct Ans: A

Q20. @eT F T FA F fAT woaT Irpfer & Foar A F Iea” F IR el & & 717
YT TR




Correct Ans: A

Q21. Which of the following computer technology helps you to easily insert, retrieve, and
manage data from databases with appropriate security measures?

A. Database Management Systems B. Firewall
(DBMS)
C. Anti-virus software D. Pen-drives

Correct Ans: A

Q21. FFafafld Fie d Fegex TFaTash 3UGFA FI&T 3UNT & WY SR A STeT Y AT F q9H W, sTerat HR
HHTOT #F HTIH AEE FA §?

A. STee Haeee f{Ted (DBMS) B. WRRATST
C. U-aRRY AW D. dA-g18ed

Correct Ans: A

Q22. Which of the following constraints help uniquely identify records in a table?
A. Primary key constraint B. Foreign key constraint
C. Check constraint D. Default constraint

Correct Ans: A

Q22. fr=faf@a #ia @1 iFeT wF taa # RFIEH 1 IS T TaT FA 7 AGG FAT8?

A. IEF T FEET B. Wi & dde
C. & FEeT D. f3wlee e

Correct Ans: A

Q23. Which of the following is an input device?

A. Keyboard B. Printer

C. CD-ROM D. Monitor
Correct Ans: A

Q23. fawafaf@a w7 w1 Ay saye sy 82

A. Fr-as B. e

C. CD-ROM D. Hidrex

Correct Ans: A

Q24. Which of the following is NOT a computer peripheral?
A. Motherboard B. Scanner

C. LCD projector D. Pen drive



Correct Ans: A

Q24. FAfafRa Fi &1 Rsew Foyet v g §2
A. AGIES B. ThelX
C. LCD 9aieeX D. 9T 8189

Correct Ans: A

Q25. is a temporary memory that loses information when the computer is

switched off.

A. Random Access Memory (RAM) B. Read Only Memory (ROM)

C. Flash memory D. Electrically Erasable Programmable Read Only Memory
(EEPROM)

Correct Ans: A

Q25. T SURE AANY § S FIET FY a7 FRT ST OX FEeT # o & )
A. 5H TR AFART (RAM) B. iz 30=Tel AARY (ROM)
C. Forer FART D. S Ihell Syoiddl TREMAT 3 3Tl HART (EEPROM)

Correct Ans: A

Q26. Bluetooth is a widely used technology for:

A. Wireless Personal Area Network B. Local Area Network (LAN)
(WPAN)
C. Metropolitan Area Network (MAN) D. Wide Area Network (WAN)

Correct Ans: A

Q26. LT $HF AT AYF T H SFAATA I ATelt TFATAS g

A. IRREE WeTel TRAT sicas (WPAN) B. &lehel TRAT Aca® (LAN)
C. Aemifarea wRar sicas (MAN) D. args TRAT sead (WAN)

Correct Ans: A

Q27. A variable in programming is a:

A. named piece of memory for storing B. procedure that performs some operation

data

C. Classification of data D. template that defines states and behaviors for creating
objects

Correct Ans: A
Q27. WA # v avae 47 §:
A. BTeT TR A o oI AARY 1 AHIfRd fF B, dg WAoR St F& 1 Xl &

C. STeT & Tl el D. 98 ¢Fcilc St 3iTsaidre i TAT e & TaIT 3aEaTe 31 UagR &
qRHATIT Xl &

Correct Ans: A

Q28. An object in an object oriented programming is:



A. An instance of a class B. A template that defines a collection of fields and methods
C. A built-in data type D. An array that holds a collection of similar types

Correct Ans: A

Q28. T 3ifsaiwe 3NNURT WNanfAwT & 3ifeare §:

A. T FATH H T B. Ueh ¢FCaIe S Plesd 3 AUSH & Falaere H TR Far &
C. U% fScc-g 31T T8T D. Th W S AR TBTH o hold el I TRUT Il &

Correct Ans: A

Q29. Protocol used for forwarding e-mail messages is:
A. Simple Mail Transfer Protocol (SMTP) B. Post Office Protocol (POP)

C. Internet Message Access Protocol D. Secure Socket Layer (SSL) Protocol
(IMAP)

Correct Ans: A
Q29. AT AAT F BRAS A F fAT STIATA g ITAT WEIhIeT &

A. FRAFge Al T WeiHiel (SMTP) B. diee 3i1fha detsier (POP)

C. 3cqeic AT TFAH il (IMAP) D. ek dihe &aX (SSL) Wieterel

Correct Ans: A

Q30.__ is the electronic equivalent of ordinary signatures that provides authenticity
of the electronic data.

A. Digital signature B. Access control

C. Encipherment D. Plaintext

Correct Ans: A

Q30.___ ¥RV RATA F gAFcIiard GHGeT ¢ S gAFCI e SIeT Y ATOrhar HgaT 1T ¢
A. fafSed ea=x B. TFHH Felel
C. TrHISHAT D. TTFET

Correct Ans: A

Q31. Which one of the following is an installer package file format that is used for installation
and uninstallation of programs in Windows operating systems?

A. MSI B. EXE

C. DMG D. IMG

Correct Ans: A

Q31. frafaf@a #i7 |1 a7 sTeiax Yaar wsa wife ¥ ot R TR Rvesn F Wt i svefaere 3
HASTEIAAA F AT STAAT AT ST &2

A. MSI B. EXE

C. DMG D. IMG

Correct Ans: A

Q32. Which of the following software installation type requires a user intervention to make



choices and preferences?
A. Attended installation B. Unattended installation
C. Automatic installation D. Silent installation

Correct Ans: A

Q32. frafafld P TR & AiFeaa seefaee # Rffes Reed vd wig o= & AT, IoR F sFaaT 6 s 82
A. 33T STefae B. 3/1-312f33 STetelesT

C. 3iterfes sTefae D. OTgele STl

Correct Ans: A

Q33. When you are connected to the Internet, several advertisements keep popping up even

without clicking on them. This is an exampleof __ attack.
A. Adware B. Spam
C. Phishing D. Pharming

Correct Ans: A

Q33. I §eTAC ¥ FATFes gl & a9 Id A 37 W Fas fFv e 3raes AsR I @I &1 IE
3 T TS 3GTEIT &

A. TSR B. T0H
C. Rnfrer D. ®ifHeTr

Correct Ans: A

Q34. Which one of the following is NOT a function of antivirus?
A. Detect and remove malicious code B. Protect all entry points to the computer
C. Regularly updates against new attacks D. Perform compression and decompression of files

Correct Ans: D
Q34. fArafaf@d sl a1 AFeT TH-aRRA F1 F1I €T §?
A. G5 I3 &I T o3l 3R gerer B. e & Wl USY digcd T T&T el

C. AT 3¢l & TWoh AT T Tl D. TSl H HFoRieT R BhesereT e
AT

Correct Ans: D

Q35. An equivalent representation for the Boolean expression A' + 1 is
A A B. A'
C.1 D.0

Correct Ans: C
Q35. AT TFERIA A' + 1 F TF A, fAwqor §:
A A B. A'

C.1 D.0

Correct Ans: C



Q36. What is the result of the Boolean expression PQ + PQR + PQRS + PQRST?
A. PQ B.PQ+ RS+ T

C.CP+Q+R+S+T D. PQRST

Correct Ans: A

Q36. gfae vFawrT PQ + PQR + PQRS + PQRST & afurer a1 82

A. PQ B.PQ+RS+T

CP+Q+R+S+T D. PQRST

Correct Ans: A

Q37. Complete the sentence with the correct option.
Firewall on a computer

A. Reduces over heating of the computer B. Prevents unauthorized access to the computer

C. Allows more devices to share the same D. Enables to utilize maximum Internet bandwidth
Internet connection

Correct Ans: B

Q37. w8 faFeq & WY aEg A T K|

T FIET T RITEreT

A. FHTET H e AT Y Fo Il & B. YT I IR &9 ¥ THFAH U SToY Y Qo1 el &
C. 3o fSarsfad & fow v & getaie D. 3fda $etaic dsfagy &t sEaATel el H TAY FaAreh &
FAFeTeT I AT FAT GHT FoATcl &

Correct Ans: B

Q38. For more protection against unauthorized access to a computer, you can use:

A. Only one software firewall B. Two or more software firewalls
C. Only one hardware firewall D. A combination of one software firewall and a hardware
firewall

Correct Ans: D

Q38. TF FY H HWUFA T § TFaw fFv S & Brame ifte guan F v, 3y seaAre & a9 8

A. FI T HFedI HrRIETel B. ar ar ar ¥ 31t HiredR HrRRdeH

C. Fael Teh gISaAT ATl D. T TiFedIR BRAG 3 T §TSIAX BIILATS Tl hieraiaiereT

Correct Ans: D

Q39. A help desk in an IT organization:
A. Does employee management B. Answers technical questions of its customers
C. Does finance management D. Administers system software

Correct Ans: B

Q39. TF IT HU=l & UF §o7 3FF:

A. FIHARY JaUT T & B. 319sT IMEehI & cTehsileh HaTell T SIS &l &
C. faed wete FaT & D. fi¥cH AFcaTR & TR HdT &



Correct Ans: B

Q40. helps IT customer support agents to receive and respond to service
requests.

A. Webware B. System software

C. Help desk software D. Anti-malware software

Correct Ans: C

Q40. wfdw Redveca F ed = AR 376 TFeak & # IT FECAT FUIE Tolel Y Fgraar Far
H

A. 3FRR B. f¥eH giFeaR

C. &09 3T AFeaR D. TEI-ATIAWR FFeal

Correct Ans: C

Q41. What file system does Windows NT or Windows Server operating systems use?

A. New Technology File System (NTFS) B. File Allocation Table (FAT)
C. File Allocation Table 32(FAT32) D. Tape file system

Correct Ans: A

Q41. A2\ NT a1 faEls IR AT Rvew #ia a1 vz Rved sTaaATT Fa 82
A. & EFaATelioT Bl fEeH (NTFS) B. WISl TallhersT ¢aal (FAT)

C. BISel TARRI el 32(FAT32) D. U wIseT RceH

Correct Ans: A

Q42. What do you mean by starvation in operating system?

A. When a thread is waiting indefinitely B. When a thread wants permission.
for some resource, but other threads are
using it.

C. When only one thread is allowed to D. None of the above.
use the resource.

Correct Ans: A
Q42. 3irq¥fer e & Terdus 1 a1 F §?

A. 59 T 95 TRt AR & fow sfafRad #1a B, 519w 95 3R7ATT a6 &
FEAATS I QB

C. 5T ael Ueh I3 1 A SEAATT Il HI - D. 30GFclsh H § HS &1
3TAT B

Correct Ans: A

Q43. Which of the following tool is used to complete online transactions or mobile banking to

combat cyber fraud?
A. One-time Password (OTP) B. Automated Teller Machine (ATM)
C. SMS alerts D. Core Banking Solution (CBS)



Correct Ans: A

Q43. AT UIASTSH F AFEET A F AT, JHferense gorFere a1 AMase 3T q w6 & fow Peafaf@a sia &
T FEAATS foraT ST 82

A. 3o 18H grHas (OTP) B. 3iferifes ok @ehar (ATM)
C. SMS 3tecH D. #R dfdher HegereT (CBS)

Correct Ans: A

Q44. Choose the correct procedure to add the CONFIDENTIAL watermark to your Word 2010
document.

A. Click Page Layout, in the Page B. Click Page Layout, in the Page Background group, select
Background group, select Watermark and CONFIDENTIAL.
select CONFIDENTIAL from the gallery.

C. Click Page Layout, in the Page D. Click Insert, in the Page Background group, select Add
Background group, select Page Color and Watermark and select CONFIDENTIAL from the gallery
select CONFIDENTIAL from the gallery.

Correct Ans: A

Q44. 39+ a5 2010 sTagHT #F CONFIDENTIAL FI areidATs sTelet & forw @l wefar #° gferdn

A. Page Background [d &, Page Layout W B. Page Background 39 #, Page Layout W f&ereh o,
TFere FIfSA, Watermark &r Telae fifod CONFIDENTIAL & Telee Hiford|

31 Fedr & CONFIDENTIAL &I Soiee

CAERl!

C. Page Background 39 #, Page Layout ®¥ D. Page Background 39 #, Insert W f&eish e, Add

Fere AfSA, Page Color F Telae | Ao Watermark &r felare Siford 31X e’ & CONFIDENTIAL & Seiee
3R et & CONFIDENTIAL & Jeree A

A

Correct Ans: A

Q45. You want to create an envelope for a letter. What is the procedure to create envelopes in
Word 2010?

A. Click Mailings -> Envelopes B. Click Mailings -> Select Recipients -> Envelopes

C. Click File -> Advanced -> General -> D. Click File -> Envelopes
Envelopes

Correct Ans: A
Q45. 31T T 97 F AT fABIHT a1 agd &1 a8 2010 # fAwe ga= i agfa Far 8?2
A. Mailings -> Envelopes W fFar FGT B. Mailings W fFere RIS -> Recipients delec Hifod ->

Envelopes

C. File -> Advanced -> General -> D. File -> Envelopes W Fa@ fifaw
Envelopes W e o

Correct Ans: A

Q46. While saving a Word2010 document, what is the default file extension?
A. .ppt B. .xlIsx
C. .txt D. .docx



Correct Ans: D

Q46. MS Word 2010 SHIHAT H 49 Fd TAY, FBlec FIga T #4182
A. .ppt B. .xlsx

C. .txt D. .docx

Correct Ans: D

Q47. You need to share the electronic copy of a legal agreement with your business partner.
Before sharing the document with the partner, you need to remove all personal information
such as author's name and cropped out image data. How can you achieve the requirementin
MS Word 2010?

A. By using the Document Inspector B. By using the Protect Document feature
feature
C. By encrypting the document D. By using the Check Accessibility feature

Correct Ans: A

Q47. HTIH! HIA FRITRY IER F Y Flefel! FIRATA T TF TAFEIT Hdl AT FA Y I § | T & q1
stageic R A § Tgd, AR TR Forsh Faar ger ¢, S d@s w1 A 3R Fia fRar @ 33 sen MS Word
2010 # 31T YA $H AT A HFH T F qFA ¢ ?

A. Document Inspector %X &l SEIHTT B. Protect Document IR & STAHTT Fleh
Fh

C. STFgHAT &1 ToAshadfear e D. Check Accessibility BRI sl SEIHTST Fah

Correct Ans: A

Q48. You want to highlight numbers between 11 and 30 in a range of cells in yellow color.
Which of the following commands in MS Excel 2010 helps you to visually highlight important
values in your worksheets?

A. Conditional Formatting command B. Sort command
C. Filter command D. Format command

Correct Ans: A

Q48. T AT A TH IFT # 11 31K 30 F NT F 7RI A N o1 & gIEASE FIAT a€d &1 MS Excel 2010 &
frafaf@a slaw a1 3Toh adie # Agaql dega # du & fow grEese e F U FAeg A

A. Conditional Formatting ##3 B. Sort &S

C. Filter &HTS D. Format &#7s

Correct Ans: A

Q49. You have a long text in a cell and you want the text to appear in multiple lines. How can
you achieve this in MS Excel 2010?

A. Select the text, click View -> Page B. Select the text, click Page Layout -> Breaks
Break Preview

C. Select the text, click Home, in the D. None of the above
Alignment group, choose Wrap Text

Correct Ans: C

Q49. 3TTF I T Ao # oar SFFe ¢ 30 317 9ga & 7% I8 e &+ agat & G@r$ &1 39 MS Excel 2010 #
TEHFI W APIE ?



A. CFEC HI Helde HIfo, View -> Page B. TFECT FI Telde HIfold, Page Layout -> Breaks W el Hifaiw
Break Preview W e RIfoe

C. TFEC & Yolge HfSY, Alignment 4 H  D. 35Fd 7 § IS g1
Home R fFa& FIfST, Wrap Text & Jaide
ST

Correct Ans: C

Q50. How will you paint the inside of a row in an MS Excel worksheet with a specified color?
A. By using the Fill Color command B. By using the Borders command
C. By using the Font Color command D. By using the Alignment commands

Correct Ans: A

Q50. 31T MS Excel ahefic & tsh HaR F 3eT Th T 1 FA s3?

A. Fill Color #T8 STAHT Feh B. Borders &3 TdHTT b

C. Font Color F#H13 TIHTT Fh D. Alignment F#T8 STAHTST ah

Correct Ans: A

Q51. You want to change the font face/theme of the text in an Excel 2010 worksheet cell.
Which of the following command would you use?

A. Font command on the Home tab B. Font size command on the Home tab
C. Font color command on the Home tab D. Alignment commands

Correct Ans: A

Q51. 3T Excel 2010 T&eflc I T A H TFE I Blee 0/ NA F deoleT I8 &1 31T PAeafai@a sl FAS
STAATA FHLar?

A. Home &9 WX Font &S B. Home && WX Font size A3

C. Home ¢& W Font color &3 D. Alignment &HTS

Correct Ans: A

Q52. Which of the following views help you to view your presentation with speaker notes on
your laptop while your audience views the presentation without the notes on a projector?

A. Presenter View B. Slider Sorter View
C. Reading View D. Outline View

Correct Ans: A

Q52. fvafaf@a i a1 o 3 dAveia W ¥ AeH & AT 39l Yol F @ # IR AEg T ¢, FGF
3T R 3T gAFIT UF ieiFe W IH YA A AleH & e dud §?

A. Presenter e B. Slider Sorter <
C. Reading &g D. Outline =g

Correct Ans: A

Q53. In PowerPoint presentations, F7 key is used to/for:

A. Grammar check B. Start slide show view



C. Spelling check D. None of the above

Correct Ans: C

Q53. UIaTEe Yoieed #, F7 s fhafav sEadATe fhar s &:

A. TMER FT S B. TTSE A Y YT AT
C. wafcier & s D. 39ged # ¥ IS gl

Correct Ans: C

Q54. One of the largest fulfillment centers operated by Amazon in India is located in which
city?

A. Chandigarh B. Sonipat

C. Gurugram D. Bengaluru

Correct Ans: B

Q54. 5T # IAF FART HATT TF Fad T8 Fafhoric &g R agt # Rua §2
A. T81G B. Al
C. s D. SFTe[®

Correct Ans: B

Q55. The National Institute of Solar Energy is located in which city?
A. Jaipur B. Coimbatore

C. Gurugram D. Dehradun

Correct Ans: C

Q55. T TR It WU fha orgT & Rya €2

A. SR B. RIHAE

C. I D. ggieat

Correct Ans: C

Q56. Which Indian wrestler won a bronze medal in the 2016 Rio Olympic women's freestyle
wrestling?

A. Kavita Chahal B. Sakshi Malik
C. Babita Kumari D. Vinesh Phogat

Correct Ans: B

Q56. 5 RAT Fecharsr ¥ 2016 R afPaw Al Preesa Fech & Fied gew Siar ar?
A. HfIar I8 B. el Ao
C. sferar oAy D. fa=rer wame

Correct Ans: B

Q57. Who is the present Governor of Haryana?

A. Shri. Kaptan Singh Solanki B. Shri. Jagannath Pahadia



C. Shri. Om Prakash Verma D. Manohar Lal Khattar

Correct Ans: A

Q57. gRAT T & adA U= Hid §?
A. A FearT &g Aleier B. &t SHTe=Tr qgIisar
C. &Y 309 Yhrer a7 D. BT o WX

Correct Ans: A

Q58. How many other State boundaries does the State of Haryana border with?
A. 6 B.7
C.5 D. 4

Correct Ans: C
Q58. g U= i AW fFdsr 3T T3t H A3t T Fed &2
A. 6 B.7

C.5 D.4

Correct Ans: C

Q59. What is the full form of STPI?
A. Southern Technology Park of India B. State's Technology Park of India
C. Software Technology Parks of India D. Software Technology Plants of India

Correct Ans: C
Q59. STPI & T & FIAT8?
A. Southern Technology Park of India B. State's Technology Park of India

C. Software Technology Parks of India D. Software Technology Plants of India

Correct Ans: C

Q60. What is the expansion of CII - a premier industry association in India?
A. Conglomeration of Indian Industries B. Conference of Indian Industries
C. Confederation of Indian Industry D. Classification of Indian Industry

Correct Ans: C
Q60. %R F NfAW it vafrwers CII &1 g1 7 Far 82
A. Conglomeration of Indian Industries B. Conference of Indian Industries

C. Confederation of Indian Industry D. Classification of Indian Industry

Correct Ans: C

Q61. Where is the Headquarters of the National Power Training Institute (NPTI)?
A. New Delhi B. Faridabad
C. Chandigarh D. Gurgaon (Gurugram)

Correct Ans: B

Q6 1. I fagga afrator ¥t (NPTI) T &A1 Tl 62



A. T3 feoelr B. WigreTg
C. 9819T% D. (37 ()

Correct Ans: B

Q62. What does LAN stand for in networking?
A. Local Area Network B. Last Area Network
C. Long Area Network D. Line area Network

Correct Ans: A
Q62. Acafhar A LAN FT FIT Adad 872
A. Local Area Network B. Last Area Network

C. Long Area Network D. Line area Network

Correct Ans: A

Q63. Haryana State is located in which part of India?
A. South-West B. North-West
C. North-East D. South-East

Correct Ans: B

Q63. gRIT T HRA & fra fed & Rua §?

A. EigIoT-gias B. ScoR-ufRws
C. 3ccR-qd D. gfaror-qa

Correct Ans: B

Q64. Who is the first Indian woman from Haryana to climb Mt. Everest from both China and
Nepal side, in 2017 and 2013 respectively?

A. Anita Kundu B. Bachendri Pal
C. Prelata Agarwal D. Malwath Purna

Correct Ans: A

Q64. NI ¥ T8 Tgdl HRAT Afger Fia & ormst 2017 31T 2013 & Faer: A 3R aAgrer i 317 F valee wda
fragE frE?

A. 31T Fg B. ST el
C. YeldT 37Faref D. HeaY quiT

Correct Ans: A

Q65. In which Haryana district is the Bhagat Phool Singh Mahila Vishwavidyalaya located?
A. Ambala B. Sonipat
C. Sirsa D. Rohtak

Correct Ans: B

Q65. R & frw foret #F T g AT Afen frafgamey Rua &2



A. 3i€TelT B. Ogd
C. faar D. Jgds

Correct Ans: B

Q66. Which District is considered to be the smallest in Haryana state, area-wise?
A. Panchkula B. Fatehabad
C. Jhajjar D. Kurukshetra

Correct Ans: A

Q66. AT I A fFa o F1 dawe & Ra™ F g9 ST A 14T §?
A. Tl B. BAgISTS

C. 8ok D. Foa

Correct Ans: A

Q67. The battle between Babur's army and was known as the first Battle of
Panipat.

A. Akbar's Empire B. Lodi Empire

C. Mohd. Ghazni's Empire D. Aurangzeb's Empire

Correct Ans: B

Q67. areR #r = 3iX & d a3Té Ireliua F ggeT 3§ FEATa ¢
A. 3R THST B. SIET AT
C. AlgFAS ot ATHT D. 3o gET

Correct Ans: B

Q68. The tomb of Ibrahim Lodi is located in which city?
A. Panchkula B. Faridabad
C. Panipat D. Rewari

Correct Ans: C

Q68. sHIEH Al I AFRT FiT T AT & ‘T 8?2

A. dagelt B. wllereTe
C. greiad D. darsT

Correct Ans: C

Q69. Which place is known as the birth-place of Sant Surdas?
A. Yamunanagar B. Samalkha in Panipat

C. Sihi in Faridabad D. Ambala

Correct Ans: C

Q69. FHITH F H YA F FeHEYR & T # A=Al ATt §2

A. IHATIR B. UriIad # FATer@!



C. wllerare # fagr D. 37aTell

Correct Ans: C

Q70. The tractor unit of which Company in Haryana was closed down by the Government?
A. HMT B. Bajaj Auto
C. Mahindra and Mahindra D. Eicher Motors

Correct Ans: A
Q70. g # fFw Fueh F TFeT FRAM F TIFR GaRT d¢ F o arar ar?
A. HMT B. SoTTeT 3iTer

C. Afgear Uz Afgear D. 3SR Ay

Correct Ans: A

Q71. The Haryana Govt. is planning to upgrade Shri Krishna Government Ayurvedic College to
the status of an Ayush University. Where is it presently located?

A. Kurukshetra B. Gurugram
C. Panchkula D. Sonipat

Correct Ans: A

Q7 1. gRIATOT TXFR 4 FT TFRT S FETF FTeST FI 3eTdaT Foh 38 TF IV Favafacaray F1 saar ot w=a
ST T T B

TAATT H IE FicioT Fal TeUd &2
A.;waﬁ'ar B. %
C. Jagel D. @iaa

Correct Ans: A

Q72. The Late Dr. Kalpana Chawla, an Indian-American scientist and NASA astronaut, was
born in which city of Haryana?

A. Yamunanagar B. Palwal
C. Karnal D. Chandigarh

Correct Ans: C

Q72. Tt &1, Feuar Arae, SRAT-3FIH A A NASA & 3icaier-anl 1 stwa g & fFa ey # gam

ar?
A. TIATIR B. Jerdel
C. AT D. TgNTg

Correct Ans: C

Q73. 4 of the 5 boxers who represented India at the 2008 Summer Olympics were from this
District in Haryana. Name the District.

A. Hisar B. Bhiwani
C. Panchkula D. Panipat

Correct Ans: B



Q73. 2008 ¥ Frswarellar afrus & sRa # yfafafica F=a ar 5 # @ 4 FFFars gRIOn F 5 @ 91 39 T
T AT IS

A. fgar B. farer

C.tiagw D. 9&=igd

Correct Ans: B

Q74. The Delhi to Gurugram Expressway is part of which National Highway?
A. NH-8 B. NH-47
C. NH-70 D. NH-80

Correct Ans: A
Q74. feeedt § e TFEIw-a fore Iy g v frwwT 82
A. NH-8 B. NH-47

C. NH-70 D. NH-80

Correct Ans: A

Q75. Who is/are said to have built the Jayanti Devi temple in Jind?
A. Ashoka B. Samudragupta
C. Kanishka D. Pandavas

Correct Ans: D

Q75. fragfaat & srqun, Sig & e &t AT 1 fawior fraar e/ #amr ar?

A. 3N B. THgI
C. Hfash D. gigat

Correct Ans: D

Q76. Which Muslim ruler founded the city of Hisar in 1354 AD?
A. Firozshah Tughlaq B. Ibrahim Lodi
C. Jahangir D. Babur

Correct Ans: A

Q76. &1 1354 # forw FuaraT A+ & RAR ag? $i wurder fr iz
A. TRUISTRITE JaTeleh B. SeIfes @Gy
C. SgreiR D. ST}

Correct Ans: A

Q77. Gurgaon (Gurugram) is the headquarters of one of India’s leading Online travel portal
companies. Name the Company.

A. Travel Guru B. Trip Advisor
C. MakeMyTrip D. Cleartrip

Correct Ans: C

Q77. 37 (FAH) & HRA A U TG HiaAcd1sel cae NeoT Fafadi H { U FT F&AT a7 YA &1 39 Flt F7 18



Tad|
A. I ITE B. few TsargeR
C. ApArsfeT D. FaRRRET

Correct Ans: C

Q78. The film 'Dangal’' featured Aamir Khan, who played theroleof __ = ?
A. Jai Singh Phogat B. Virendra Singh
C. Mahavir Singh Phogat D. Pramod Kadam

Correct Ans: C

Q78. ' rem A AR @A __ & feR forstmar ar?
A. 51T g wrme B. 3% R
C. #gTdR THg wheme D. YAIG HeH

Correct Ans: C

Q79. What is the full-form of IBM - the multi-national technology Company?
A. Indian Business Management B. International Business Machines
C. International Business Magnates D. Indian Business Marketing

Correct Ans: B
Q79. FEUSE g FAHY FHel - IBM 1 o7 AT 47 2

A. Indian Business Management

vy}

. International Business Machines
C. International Business Magnates D. Indian Business Marketing

Correct Ans: B

Q80. What is the full-form of HTTP?

vy

A. HyperTest Transport Protocol . HyperTent Transfer Protocol

O

C. HyperText Transfer Protocol . HyperText Transmission Protocol

Correct Ans: C

Q80. HTTP T quf &7 F4T 8?2

o8]

A. HyperTest Transport Protocol . HyperTent Transfer Protocol

O

C. HyperText Transfer Protocol . HyperText Transmission Protocol

Correct Ans: C

Q81. The Unique Identification Authority of India (UIDAI) that manages Aadhaar Card, has its
data center in which city in Haryana?

A. Gurgaoan (Gurugram) B. Faridabad
C. New Delhi D. Manesar
Correct Ans: D

Q81. 3TYUR FTS FT TG FIA AT el ATSSEITBarer AN 37w 3 (UIDAI) F s1eT A g & v
T A Rya g2



A. T[T (HATH) B. ®{iersTe

C. 15 ol D. AW

Correct Ans: D

Q82. The Government of Haryana officially notified on 16" November 2016 as its 22"
District?

A. Rohtak B. panchkula
C. Charkhi Dadri D. Gurugram

Correct Ans: C

Q82. 16 79T 2016 I FRACT FFR A INFAFNF d W forw fore i 3w 22 § e sfrgRa B ar?
A. Ugds B.tiilng

C. TEY gredy D. IeamH

Correct Ans: C

Q83. Name the award given for excellence in Urdu Literature in Haryana?
A. The Munshi Gumani Lal Award B. Sabir Dutt Award
C. Kanwar Mohinder Singh Bedi Award D. Virender Sehwag Award

Correct Ans: A
Q83. g # 3¢ wifeey # 3cgFeear ¥ T I AT WEFR FT AT T
A. FY AT ST RERR B. ¥R gcd [RERR

C. s Alfges, g 9& [EPR D. g HEANT [REHR

Correct Ans: A

Q84. Where would you find Badkhal Lake in Haryana?
A. Near Manesar B. Near Faridabad
C. Near Rohtak D. Near Surajkund

Correct Ans: B

Q84. i # sswa i F§18?

A. AET & 91T B. WIgEIg & IrE
C. Ugds & 99 D. TS & I

Correct Ans: B

Q85. What is Chandimandir Cantonment in Panchkula City famous for?

A. Headquarters of Indian Army'’s B. Headquarters of Indian Army’s Western Command
Northern Command

C. Headquarters of Indian Airforce’s D. Headquarters of Indian Airforce’s Northern Command
Western Command

Correct Ans: B

Q85. YaFaT eT # w3 AT oraet Fr A frafaw ufdg 82



A. IR Ul ATl T oAce] HATS H HEAOI B, HRAT Yol Jall T dECoA HATS H AT
C. RCRT g {1 T dFCe! FHoAS N AEAT D, HRAT aT el Y AAGeT FHaAs o LA

Correct Ans: B

Q86. Morni Hills is located in which District in Haryana?
A. Panchkula B. Sirsa
C. Ambala D. Karnal

Correct Ans: A
Q86. gl F fFw o & AW ygifzar Rya &2
A. dTpelt B. &

C. 3i€Ter D. &l

Correct Ans: A

Q87. How many Districts were there, when Haryana State was first formed?
A.5 B. 6
C.7 D.8

Correct Ans: C

Q87. 5 FRATVM AT FT Teell AR T T3 AT A« 37HA et Forer 2
A.5 B. 6

C.7 D. 8

Correct Ans: C

Q88. Who is the newly elected Chief Minister of Uttarakhand?
A. Harish Rawat B. Ritu Khanduri Bhushan
C. Saurabh Bahuguna D. Trivendra Singh Rawat

Correct Ans: D

Q88. 3RIEs I Adfaditad q&a AfY e 82

A. glrer Tad B. O wgdl aqwor
C.zﬁwagvluw D. Pdeg &g Tad

Correct Ans: D

Q89. Instructions: Read the sentence and identify the correct word that best suits the
underlined word.

The villagers considered their headman as the arbiter of truth and justice.

A. judge B. owner
C. initiator D. legislator

Correct Ans: A

Q90. Instructions: Read the sentence and identify the correct word that best suits the



underlined word.

The old man was elated when he received the tickets to London.
A. excited B. gloomy
C. content D. depressed

Correct Ans: A

Q91. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

Hewusually ___ late to office.
A. left B. will leave
C. has left D. leaves

Correct Ans: D

Q92. Instructions: Choose the correct answer from the options given below to have a
meaningful sentence.

Monais__ than her sisters.
A. smartest B. more smarter
C. most smarter D. smarter

Correct Ans: D

Q93. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Divya got cold feet the day before her wedding.
A. surprised B. Happy
C. excited D. scared

Correct Ans: D

Q94. Instructions: Identify the meaning of the underlined idiom. Choose the correct answer
from the choices listed below.

Vanitha spilled the cake mix from the bowl and therefore had to start from scratch.
A. Clean the area B. Start from beginning
C. Scratch the bowl D. Clean the bowl

Correct Ans: B

Q95. faréer — Haiflis IUgFd req/AsAl F1 TAT HId §C AT T H-

T & TH-UF a1 HY Foo T 919 A SH-oNaeT & G afwarfr___ ___ A e gg e feam ¥
A. SR B. =#
C. 3fa D. R

Correct Ans: B



Q96. fager —wafrd SuLFd 2ree/ Asal FT TAT FIA T AFT T -

TSI TET F HIT The of F TP 3T The AT J0FHT Y §, 3T Aged &, TAsa H T 7 gft o &
P #E

A. gy B. disT

C. gleld D. X

Correct Ans: C

Q97. fader- Ywifha FgTay F1 3 gt

TEeT A AT oY R @ 1 e #4491 R g ara AN wae F Rege adt o W, 7 I Fhe a@n rwe e
q3T1-

A. 8 3T B. PRISR # Fg ShdTeT glotl
C. 3TareTsh HHET 3T AT D. &R FeIg Il

Correct Ans: C

Q98. fader- Y@ifwa Feray #1 3 g

Arerelt #H o &Y DA ¥ X & UF-UF HGFT FY A F @, AT IeT% IR A F a1g Q0 IRAR T e g I
|

A. S61E g1aT B. IHYT & Ulec

C. Tt giem D. fe@y s

Correct Ans: D

Q99. s - 4 faFedl # ¥ v 7w ereg &1 yATHAT 2reg qaAT¢ -

=
A. 3T B. &1
C. WX D. 73

Correct Ans: A

Q100. f3&er - 4 RFweul & ¥ R v 2reg 1 g HarHt 2reg qaTd —

iR eft
A. Gleeg B. gsﬁﬁ?'q
C. IHaAT D. afam

Correct Ans: D



